Math 1113 Quiz 5

Name: 42}4 GTID:

Answer the questions in the spaces provided and put your answer in the [BOX]| Organize work
clearly and simplify answers for full credit.

Summer 2024

la. Find the exact value: cos (% — %)
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1b. Given that tanu = 4, with v in quadrant III, and sinv = 13, with v in quadrant II, find the
exact value of cos(u + v).
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lc. Find the exact value: 1 — 2sin® 75°
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2. Use power-reducing formulas to rewrite the expression so that it does not contain trigonomet-
ric functions of power greater than 1.

2 2

Poreala &g = "E;—"‘ - = ( I+ cos be
Co*O= (+co\ 26 — =
2 i
A 20 = [ (- can2® —
SWYG teh Cos >((+wsw\ - ? ( ‘_%\%ugqg\
2 =

I o L)

3. Verify the identity.
(cosz — sinz)(cosx +sinz) = 1 — 2sin’x
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